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 d  

Question 2 (1 point)

 a a = -5, b = -2

 b a = 3, b = 18

 c a = -5, b = 3

 d none of these

Question 3 (1 point)

 

 

Standard 2.02 b
DOK 1

Standard 2.02 b
DOK 3



 a A

 b B

 c C

 d D

Question 4 (1 point)

 

 a x > 3

 b x > 4.5

 c 0 < x < 4.5

Standard 2.01a
DOK 2



 d 0 < x < 3

Question 5 (1 point)

 

 a  

 b  

 c  

Standard2.01 b
DOK 2



 d  

Question 6 (1 point)

Which graph shows the function f(x) = - ln (x - 2)?

 a  

 b  

Standard 2.01 
DOK 2



 c  

 d  

Question 7 (1 point)

What is the x-intercept of the function: y = log (x + 5) - 3?

 a -1,005

 b 1,002

 c 995

 d 4,995

Question 8 (1 point)

 

 

 The temperature in a town over 24 hours can be modeled by a trigonometric function.  The temperature was 76
degrees at 12 am and 12 pm.  The lowest temperature of 70 degrees occurred at 6 am, and the highest temperature
of 82 degrees occurred at 6 pm.    Which function can be used to model the temperature, y, during the time in hours,
x? 

Standard 2.04 b
DOK 2

Standard 2.01 b
DOK 1



 a A

 b B

 c C

 d D

Question 9 (1 point)

Find the domain of y = log x

 a all reals less than zero

 b all reals greater than one

 c all real numbers

 d all positive real numbers

Question 10 (1 point)

 a 97.5%

 b 81.5%

 c 95.0%

 d 68.0%

Question 11 (1 point)

 a The mean would be 2 pounds, and the standard deviation would be 0.4 pound.

 b The mean would remain at 2.3 pounds, and the standard deviation would remain at 0.7 pound.

 c The mean would remain at 2.3 pounds, nd the standard deviation would be at 0.4 pound.

 d The mean would be 2 pounds, and the standard deviation would remain at 0.7 pound.

Standard 1.02 d
DOK 2

Standard 1.02 d
DOK 1

Standard 1.01 a
DOK 1



Question 12 (1 point)

 a 37.3%

 b 23.0%

 c 16.2%

 d 53.0%

Question 13 (1 point)

 a 200

 b 2

 c 100

 d 1

Question 14 (1 point)

A 30-foot-long ladder is leaning against an embankment inclined 64° to the horizontal line. If the angle the ladder
makes with the ground is 40°, what is the distance from the top of th ladder down the embankment to the ground,
to the nearest hundredth of a foot?

 a 10.34

Standard 2.04 c
DOK 3

Standard 2.05 b
DOK 1

Standard 1.02 f
DOK 3



 b 21.46

 c 18.75

 d 19.87

Question 15 (1 point)

 a 12.31 m

 b 29.31 m

 c 17.75 m

 d 17.31 m

Question 16 (1 point)

The equation y = 3.8x1/7 is graphed on the coordinate plane.  How does increasing the denominator of the exponent transform the
graph?

 a The transformed graph will approach a horizontal asymptote while the original graph will not.

 b The transformed graph will go to ∞ slower than the original graph as the value of x gets larger.

 c The transformed graph will not approach a horizontal asymptote while the original graph will.

 d The transformed graph will go to ∞ faster than the original graph as the value of x gets larger.

Question 17 (1 point)

A 5 digit PIN number can begin with any digit (except zero) and the remainig digits have no restriction. What is the
probability of the PIN code beginning with a 7 and ending with an 8, if repeated digits are allowed?

 a

 

 b

 

 c

 

 d

 

Standard 1.03 b
DOK 1

Standard 2.03 b
DOK 2

Standard 2.04 c
DOK 3



Question 18 (1 point)

 a  

 b  

 c  

 d  

Question 19 (1 point)

What is the probability that a random selected student has a cell phone given that the students attends School B?

 a 0.41

 b 0.21

 c 0.62

 d 0.85

Question 20 (1 point)

Standard 1.03 b
DOK 2

Standard 1.03 c
DOK 2

Standard 2.04 b
DOK 3



 a

 

 b

 

 c

 

 d

 

Question 21 (1 point)

 a 0.75

 b 0.29

 c 0.61

 d 0.37

Question 22 (1 point)

 a 0.02

 b 0.08

 c 0.16

 d 0.12

Question 23 (1 point)

A math test has 10 multiple choice questions with four choices containing one correct answer each. If you randlomly
guess on each of the 10 questions, what is the probability that you get exactly six questions correct?

 a 0.000058

 b 0.145998

 c 0.205078

 d 0.016222

Standard 1.03 a
DOK 2

Standard 1.03 b
DOK 2


Standard 1.03 a
DOK 3



Question 24 (1 point)

Your company plans to invest in a particular project. There is a 35% chance that you will lose $30,000, a 40% chance
that you will break even, and a 25% chance that you will make $55,000. Based solely on this information, what is the
expected value of this investment?

 a $24,250

 b $3250

 c $325,004

 d $2,425,004

Question 25 (1 point)

The world famous gambler from Philadelphia, Senor Rick, proposes the following game of chance. You roll a fair die.
If you roll a 1, then Senor Rick pays you $25. If you roll a 2, Senor Rick pays you $5. If you roll a 3, you win nothing.
If you roll a 4 or 5, you must pay Senor Rick $10, and if you roll a 6 you must pay Senor Rick $15. What is the
expected value of Senor Rick's game?

 a $-24.17

 b $0.83

 c $-145

 d $-0.83

Question 26 (1 point)

Find the range of y = log (x) + 2

 a All reals

 b [2, )

 c (2, )

 d [1, )

Question 27 (1 point)

 

 

 a Students in a tenth grade English class

 b People entering the local grocery store one weekend

 c People playing basketball at the local community center

 d People entering the local stadium to watch a baseball game

Standard 1.02 b
DOK 1 

Standard 2.02 b
DOK 2

Standard 1.03 d
DOK 3

Standard 1.03 d
DOK 2



Question 28 (1 point)

 

 

 a y = 1.5sin(2x)

 b y = 2sin (1.5x) + 4

 c y = 2sin(1.5x) + 4

 d y = 1.5sin(2x) + 4

Question 29 (1 point)

 

 

 a

 b

 

 c
  

 d

 

Question 30 (1 point)

 

Standard 2.05d
DOK 2

Standard 1.01a
DOK 1

Standard 2.04 b
DOK 2



 a an=2n-1

 b an = n2 - n + 1

 c an = n2 -2n + 2

 d an = 2n2 -2n -1
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